A Fy T A X

PVC/RBI M & HIL b

¥ D mm
BT I R S S

M3 x5
M3 x 6
M3 x 8
M3 x 10
M3 x 25
M4 x 8
M4 x 10
M4 x 12
M4 x 15
M4 x 25
M5 x 10
M5 x 12
M5 x 15
M5 x 20
M6 x 10
M6 x 12
M6 x 15
M6 x 20

0.5

0.7

0.8

1.0

5.5

7.0

8.5

10.0

3.0

4.0

5.0

6.0

2.5

3.0

4.0

5.0




A Fw T AKX
PVC/RAFRIL |

|
¢ b ;
E - 1 0
/ ) =4y ey
U § !
| i
| LidR
SN SRS =l LR N/
I 1
[l .
L i J
. J
i
|

L  SN—

H{Z D mm

_ALomUdREe | EyF | k[ s

M4 x 8

M4 x 10
M4 x 12 0.7 2.8 7.0
M4 x 15
M4 x 25
M5 x 10
M A 0.8 3.5 8.0
M5 x 15
M5 x 20
M6 x 10
L 1.0 4.0 10.0
M6 x 15

M6 x 20



Y DEEBEIEE
PVCAa L

KEFOHELRRIELEL LIZLAET—-2TT.
EEBETHYRTFETIEHUFEHA,

ALY LY N
H{Z IN-m

IR T
.15 0.36 0.77 1.30

5| SR BT 17 B

H{I I N
L M3 ] M ] M5 | e |
225 379 642 925



